Adv. No. 06/2016 Cat No. 02, Industrial Extension Officer (Industries and
Commerce Department, Haryana)
Morning Session

Q1. Emperor Ashoka was the son of

A. King Chandragupta B. King Samudragupta

C. King Bindusara D. King Samprati

Q1. §ATE M+ F T

A. TSI <gared B. IST AHgIIeT

C. st figar D. ot #FAfA

Q2. will give 2% reservation to sportsperson in State Government jobs.
A. Uttarakhand B. Himachal Pradesh

C. Odissa D. Jharkhand

Q2. , TS TIHR H1 AlsRal & @anfzat #1 2% smemor am)

A. 3cRTEs B. fgHATTer eQr

C. 33 D. IRES

Q3. Government named Wheeler island in Bhadrak district as Abdul Kalam
island.

A. Bihar B. Maharashtra

C. Odissa D. Andhra Pradesh

Q3. fFH TFR F s7ga ek & e GdT FT A Iegel FelTH GdIT @T?
A. fogrR B. FERTSE
C. 33r&n D. 31Ty g2

Q4. Pradhan Mantri Sukanya Samriddhi Yojana is

A. Scheme for providing life insurance cover B. Small deposit savings scheme for a girl child
C. Pension scheme targeted at the private D. Scheme for providing round the clock power to
unorganized sector rural households
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Q4. wuTe it gFear FHTE A= gl

A. Sfraet SYAT G&T YeTel et T At B. Srfolert3lt & foT Sl STAT s9d relar

C. Sl 3r5eTfod & IR offerd 92 Jreter D. Fmefor gRaRT Fr AT e STl YeiT &t $r
QrsTar

Q5. The famous war of Kurukshetra in Haryana was fought between

A. Lord Ram and Ravan B. Lord Ram and Lord Krishna
C. Kauravas and Pandavas D. Kauravas and Lord Krishna
Q5. gRToT & FEar F1 WA I & dfrer gam am

A. $TITTeT 1 3R TraoT B. $13TdTef 1A 3R $77aTeT FHsor
C. &Nq 3R uisg D. sRa 3R sfararet oy

Q6. The Revolt of 1857 started from which place?

A. Karnal B. Panipat
C. Meerut D. Kurukshetra
Q6. 1857 ¥ fglg 1 e3rra Fal & §§ o2
A. T B. gredad
e D. eaiT
C. N
Q7. Lala Lajpat Rai actively participated in which protest from Hisar?
A. Swadesi Andolan B. Desh Mera Andolan
C. Sacchar Andolan D. Quit India Movement
Q7. aTaT dTSidd T o AR & fhy e & afhy w7 & sier for ar?
A. Tacel Aferele B. ST #RT 3Miarelet
C. TR 3Mgieled D. ¥Rd BIET et
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Q8. In the Third Battle of Panipat fought in the year 1761, Ahmed Shah Abdali, the

king, defeated the Marathas.
A. Afghan B. Persian
C. Mongolian D. Turkish

Q8. 1761 # a2 7 yrhua $ fiwd o= #, qIE2ATE HEHATG 2ATE HeaTall A AWSH HT gIAT|
A. 3% B. BRET

C. s D. &t

Q9. Anita Kundu climbed Mt. Everest from which two sides?

A. Nepal and Bhutan sides B. China and Pakistan sides

C. Nepal and China sides D. Nepal and Bangladesh sides
Q9. AT F3 A feT &) aF ¥ AST Tal¥e W e H A2

A. AT 3R $[ETel T B & B. =T 3R arfeneclret s o &
C. AT 3R I T B & D. #UTer 3N ST T R

Q10. Who tabled Haryana budget 2017-18?

A. Sh. Anil Vij . Sh. Om Prakash Dhankar

O W

C. Sh. Ram Bilas Sharma
Q10. R s9iT 2017-18 fFHa der fFar?

. Captain Abhimanyu

A. it 3iferer fasT B. T 3 JehTer eeieh}
C. #r T g e D. &t 3oy

Q11. Who amongst the following is declared as Wrestling Director of Rohtak-based

University?
A. Geeta Phogat B. Sakshi Malik
C. Babita Phogat D. Vijendra Singh
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Q11. Frfafla # @ Veaws Reya Reafaggrea F1 e Mdes it frar @2

A. 3frar BT B. amaft Afersh

C. J&idT BRTE D. faoles &g

Q12. There are priority areas in Haryana budget 2017-18.
A.8 B. 4

C.9 D. 6

Q12. gRImon 99 2017-18 & AT fAFT arer 8 &

A.8 B. 4

C.9 D. 6

Q13. Swachh Shakti Saptah event focused on in Swachh Bharat Mission.
A. Role of Women B. Role of Men

C. Role of Ministers D. Role of Government
Q13. Ta=o AfFd A°dE FEHHA, TaT06 0T AT & 9T Hfga am
A. Afg3it & syfaenr B. ST T sffAT

C. #fit o syfraT D. TR 1

Q14. Sex Ratio Monitoring Dashboard to monitor sex ratio in Panipat district is part of

programme.
A. Nati B. Beti Bachao, Beti Padhao
C. Bharat Award D. Khel Ratna
Q14. reftaa forer & foir Jrequrar iy ATt e aren fAior srequrar AfareRar 3eaars FEAFH
&1 e
A. T B. SET §aT3fl, 9ET Ter3i
C. #Rd [REPR D. Wef Teel
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Q15. Who wrote the biography of Harshavardhana?
A. Banabhatta B. Gulam Kadir
C. Surdas D. Chauranginath

Q15. g¥ads # Sfa=h e fod?

A. STOTETE B. e FHIfET
C. Jerd D. =RefeY
Q16. Gulam Kadir is a poet.

A. Sufi B. Jain

C. Muslim D. Sikh
Q16. T FIReT TF &l

A. g B. St

C. FaeATT D. g

Q17. Who wrote the poem, Deewan-e-Haali?
A. Gulam Kadir B. Khwaja Altaf Hussain Haali

C. Gulam Nilami D. Sannat Sadullah
Q17. [FTet EaA-v-grail wiadr $Y @1 F1?

A. TTH FIfeT B.mmg@ﬁm

C. eI ey D. Held Flgeel

Q18. Which of these awards is related to literature?

A. Bhai Santokh Singh Award B. Bhim Award

C. Chief Minister Ratna Award D. Pt. Lakhmi Chand Award
Q18. 57 ¥ Fla w1 [WEFR, e ¥ wafta ¥?

A. TS HAE g PR B. e quEhR

C. HEIHA Toof [PERR D. 93 o de REHR
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Q19. Which Makbara is situated in Thanesar?
A. Chilli ka Makbara B. Sheikh Chilli Ka Makbara
C. Mohammed ka Makbara D. Khilji ka Makbara

Q19. 5aH ¥ Fi T AF, AW H T &2

A. Tl &1 FhaT B. @ fAeell &1 Aehar
C. AgFAT FT AFHa D. TQeTsiT FT ARRT
Q20. The river enters in Haryana through Ambala.

A. Markanda B. Ghaggar

C. Indori D. Dohan

Q20. EY e W g1 g gRATOM F ydew FIA P

A. ATHS B. g9

C. 3o D. glget

Q21. Which amongst the following hills is in the Panchkula district of Haryana?

A. Morni Hills B. Aravalli hills
C. Shivalik hills D. Tipra hills
Q21. faraafaf@a & ¥ Flar ¢t wgrs gRmoN & vargar e F Ry 82

A. HITAT TgTS B. 3RTaell TgTst
C. Rrarforeh wgrsr D. feur ggrsr

Q22. Which of the following districts is not drained by Yamuna river?

A. Hisar B. Sonipat
C. Panipat D. Karnal

Q22. I 7Y 37 ¥ e vt & A 1t wwht 82

A. fgaR B. @i

C. uigd D. F=ATel
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Q23. Which of the following geographical divisions covers the largest area in Haryana?

A. Aravalli hills B. Semi- Desert Plain

C. Shivalik Hills D. Yamuna-Ghaggar Plain
Q23. 57 & Fla a1 sitnfaT Rerrsrr, sRImom & Fad 73 a7 # o gaw §2

A. 3RTEE T vgTisar B. 3r-YAamel Here

C. Rarforss $r wgrfsar D. JHAT-TIIR I HeTel

Q24. Elections for the Panchayat are done by

A. Raising hands B. Open ballot

C. Secret ballot D. Forming Groups
Q24. YU FT IoTT & anT fFaT e g

A. 1Y 35T B. QeI #HcfeleT

C. [ed #Hclerel D. HHg T

Q25. The Election Commissioner can be removed by

A. The Parliament B. The President of India

C. The Prime Minister of India D. The Vice President of India
Q25. TA1T T F & gaNT §CHT ST §Sall 81

A. §T¢ B. 3R & Iseufa

C. AR & vt HAr D. #ARA & 3ursgafa

Q26. In India, power to increase the number of judges in Supreme Court lays with

A. The Chief Justice of Supreme Court B. The President of India

C. The Home Minister of India D. The Parliament of India

Q26. ¥Rd #, Hafea =TT # ATl Y T&AT To 1 FRFR, & qr gl
A. Hafed =OraTerd & HEg =TT B. 9Rd & Irsgyfd

C. Rd & g 7N D. R & FHe
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Q27. Which of the following periods are coldest in Haryana?
A. October-November B. November-December

C. February-March D. December-January

Q27. 3aH ¥ 5w rafr & gRIom & FIF SATET 3U3 ysA §?

A. 3TFCER-oTda B. AgFR-fedF
C. Ta{-ATT D. feqFeR-Sietey
Q28. is the largest producer of cotton in Haryana.
A. Panchkula B. Karnal

C. Sirsa D. Kurukshetra
Q2s8. RO H FITH FT FIH T3T 3UEH g

A. Fagell B. sheTel

C. faar D. F%&1T

Q29. "Murrah" is the breed of which animal?

A. Goat B. Buffalo
C. Sheep D. Cow
Q29. 'FIY' ¥ STeAaT A 7T §2

A. IR B. #\

C. &3 D. I
Q30. Pick the odd one out:

8,9, 10,11

A. 8 B. 9

C. 10 D. 11
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Q30. 3HId FT IIT Fi:

8,9 10,11
A.8
C. 10

Q31. Find the analogy.
CdD : DcC:: EfF : ?

A. FeE

C. Fef

Q31. AT g&l

CdD : DcC:: EfF : ?

A. FeE
C. Fef

Q32. Find the missing number.

0, 3, 8, ?, 24, 35
A. 12
C. 16

Q32. uftyd H&aT AT F

0, 3,8,? 24,35
A. 12
C. 16

Q33. If BAD is coded as 7. How will GOOD be coded as?

A. 12
C. 41

Q33. IfE TF FI13 #4T9T # BAD Y 7 @1 1T § df GOOD &' F41 fa@r sreen?

A. 12
C. 41

B. 9
D. 11

B. feE
D. Ffe

B. feE
D. Ffe

B. 15
D. 20

B. 15
D. 20

B. 21
D. 14

B. 21
D. 14
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Q34. Find the value of X in the following equation:

5X —1

—_— =2

2X +1

A.5

C.3 D.2

Q34. Arafaf@a gHiwtor & X #1 A A

5X —1
—_— =2
2X +1
A.5

C.3

Q35. There are two events namely A and B in an experiment. If P(A) = 0.9, P(B) = 0.5 and
P(A N B) = 0.2, find P(A|B).

A. 1/5 B. 2/5

C. 3/5 D. 4/5

Q35. UH YA & QY geaw A 3k B §1 e P(A) = 0.9, P(B) = 0.5 3k P(ANB) = 0.2 @Y aY P(A|B) &1
icRTeac|

A. 1/5 B. 2/5

C. 3/5 D. 4/5

Q36. What percent of 1000 litres is 15 litres?

A. 1% B. 2%
C. 1.5% D. 2.5%
Q36. 1000 e F1 fFda wfaerd 15 dfiex gar @2

A. 1% B. 2%
C. 1.5% D. 2.5%
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Q37. John bought a watch for Rs.1560. He sold it at a loss of 1.5%. What was the selling
price of his watch?

A. Rs. 1489.50 B. Rs. 1319.40
C. Rs. 1223.45 D. Rs. 1536.60

Q37. St & 1560 T9A # TF g WG| 36 3/ 1.5% THA W a7 | 3w ugt w1 s 77 fraar ar?
A. 1489.50 T4 B. 1319.40 39

C. 1223.45 391 D. 1536.60 39

Q38. An example that shows the elasticity of an object is a

A. stretching rubber band B. rolling ball
C. sliding door D. moving fan
Q3s. TF T A AT Y g AT TF 3STER0T ¥

A. IR J3 &7 e B. dfe T efgehelr
C. SIarsl T HIehall D. 9® &I Telall

Q39. A branch of science that deals with the use of scientific processes for the extraction of
metal from its ores is known as

A. Biochemistry B. Immunology

C. Metallurgy D. Molecular chemistry

Q39. R v arET A UG F HATH! F U F Fsador F e dnfaw afrmet F s @ w6t @, 39
& ATH ¥ AT AT &

A. Sha T fa=re B. 9fcRe faeier

C. &rq fa=ireT D. 3M1uTfdeh THGS faareT

Q40. First level consumers in a food chain include the
A. Carnivores B. Decomposers

C. Producers D. Herbivores
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Q40. 3TER AT # Tgar Fa< & IusHiaransi & A &1
A. HEERY B. 3T9EcaIhIT
C. 3¢9 D. QMeRTgRT
Q41. is the synonym of "DIVERSE".

A. Different B. Similar

C. Related D. Alike
Q42. is the antonym of "HEALTH".

A. Weight B. Disease
C. Happiness D. Diet

Q43. Identify the meaning of the idiom.

"Go with the flow."
A. Give up on something B. Change the topic

C. To waste time D. Be more relaxed and let things happen

Q44. The sentence given below may contain one or more mistakes. Identify the correct
sentence.

"Mukesh studied all night for giving his exams."
A. Mukesh study all night for his exams. B. Mukesh studied all night giving exams.
C. Mukesh studied all night for his exams. D. All night Mukesh studied for exams.

Q45. Complete the sentence by choosing the correct word.

The girl the little boy from drowning.
A. saved B. killed
C. threw D. helped
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Q46. A+ s FT gITIaTE 2eg TAS|

3T
A. 38T B. #&T
C.gd D. IH

LN

Q47. faF= s &1 {uda (Rahe) aref sarsd|

adeT
A. 919 B. 315
C. 92X D. Thfd

Q48. Y e FggraY #1 3fa e Fard|

AfFEar AR

A. 13 APIZ AREAT B. ART ART g

C. e J{hT A foadrer D. STTg 1918 3Tfeeair Harrer
Q49.ahﬁmama?ra§ﬁ:raaﬁ|

qaft

A. Tefrar B. gfgyar

C. uferar D. uefrar
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Q50. T fa@ 2rsg T vhaTeT A |

gt
A. 3T B. Sifs=r
C. Bfst D. f3far

Q51. When was the Unified Soil Classification System (USCS) devised?

A. 1942 B. 1919
C. 1945 D. 1954
Q51. THIFA FaT FIHEHIOr JurTelt (I, 0H.H.0H) Fq AR Y 75 A2
A. 1942 B. 1919
C. 1945 D. 1954

Q52. Which of the following defines the maximum gross pressure intensity to which the soil
at the base of foundation can be subjected without risk of shear failure?

A. Ultimate bearing capacity B. Allowable bearing pressure

C. Safe bearing capacity D. Gross pressure intensity

Q52. fAFT # ¥ Fi7, JWFdH FFd garg digdl H IRART FaT § FHF YR W T F 3R | A &
Fated! Awerdr & WA & [ el 52 o1 Far &2

A. 3fad gg= e1Har B. T 98« &g
C. FRI&IdT ageT &1adm D. §ehel GaTd dlgdl

Q53. Which of the following is a pile made up of two different materials like concrete and
timber or concrete and steel?

A. Timber B. Concrete

C. Steel D. Composite

Q53. 3aH ¥ Fid, FhIe 3 TR AT Fhre 3T T S & reer-3rerer AT F T4T TH T B2
A. RS B. shshic

C. ¥re D. HFdfre
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Q54. A group of gages arranged in a particular fashion is called a strain
rosette.

A. Three B. Four

C. Six D. Eight

Q54. tw Ay e i syafeua AT F TF WG $I TF T JAC FgT ATl ¢

A. et B. IR

C. & D. ATe

Q55. Identify process that is known as the croning process.

A. Evaporative pattern casting B. Investment casting

C. Shell moulding D. Ceramic shell investment casting
Q55. 39 AT F Ygare A FIAT IRRAT F A1 F ST AT 7

A. arsdieofr et FIfeceT B. gwd¥cHT FHIfEeT

C. o Afesa D. A% AaT geaecHc wIfeear

Q56. Identify the phase of automation migration strategy that involves automated
production using single-station automated cells operating independently.

A. Phase 3 B. Phase 1
C. Phase 2 D. Phase 4

Q56. TEAAA ATSAAT IVANT F 37 TOT T TgaI FY WA TaaT T F Fafad ga ard RITaT-TeereT eraAes

AT & 3YANT FI& T 3eqTesT e g 2l
A. TXOT 3 B. =T 1

C. TOT 2 D. =0T 4

Q57. Which of the following element receives energy and then either converts it into heat or

stores it in an electric or magnetic field?
A. Active B. Passive

C. Bilateral D. Unilateral
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Q57. fe # @ i A1 acd TSt WIed FaT ¢ IR 3WF q1g AT A 39 At F aRafela g Srar ¥ ar 3@ Fega ar
T 817 H AT T 82
A. @fsha B. AfSny

C. graRwr D. TshaWHl

Q58. Which of the following is not a bilateral element?
A. Resistance B. Inductance

C. Diode D. Capacitance

Q58. 31 ¥ Fi wF gfausir aeq 7d 8?2
A. gfarrer B. S3FcH
C. 3/ D. &9ty

Q59. The efficiency in per unit of a D.C. machine is calculated as:

>
I
o
I

output power - input power output power + input power

Q)
I

output power = input power D.

Q59. tw St.#Y. Fefier A ufer gfae Air gavar A 10T 37 yFR F AT B:

input power - output power

1 1
A. l=3-1'I3'c.'EI"c."‘ZI'I'C|T—$FTEI’?."‘:I'I?1R' B. '=3TI3€3€W+$?1'§EW

N n
C. ' = 3M3TYE IR = 3AYC TN D. ' = gYC UK - H13CYC TN

Q60. Which of the following diode acts as negative resistance device in microwave
frequency generation?

A. Laser B. Avalanche

C. Crystal D. Varactor
Q60. A% # ¥ FiT A1 sRAE, ABFIAT PiFdl Fave & AAfeT yfay Basyw & T & H1d Fyar 82

A. IR B. Tgaig

C. foreea D. NFX
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Q61. Identify the flip-flop which is constructed either using two cross-coupled digital NAND
gates or two cross-coupled digital NOR gates?

A. SR B. JK

C. Data or Delay D. Toggle

Q61. 37 Fag-Faly I ggarar # ok &t IR-Ifowra Bivrea va.v.wa. 3. Ay ar o ur-gfowa Bioea
TA. AR, AEH T IYART FI& AT SATAT §2

A. TH.3R. B. 1.%.

C. Ser oy f3er D. efarer

Q62. What is the total number of programmable links in a Programmable Logic Array (PLA)?
[n=number of inputs, k= the number of product terms, m= number of outputs]

A.k*m B. 2n * k
C.2n*k+k*m+ 2m D. 2k * m

Q62. WhmARTe diford W (M.Ud.v.) # D Ay ATl it For wear e gyl 82
[n = 39e & §&AT, k = 391G eaT HT FEAT, m = H3TYC HY FEAT]

A.k*m B. 2n * k

C.2n*k+k*m+ 2m D. 2k *m

Q63. The ENIAC computer is an example of computing devices.
A. First generation B. Second generation

C. Third generation D. Fifth generation

Q63. ENIAC Fq&X & FTYFET 3TFOI FT T 3aT60T ¢

A. ggel fér B. @t drér

C. dredy didr D. gi=dt dir

Q64. 1 Petabyte = ?
A. 1024 KB B. 1024 MB
C. 1024 GB D. 1024 TB
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Q64. 1 YeETEE = ?
A. 1024 &.4. B. 1024 TH.&.
C. 1024 5.4, D. 1024 &r.4.

Q65. Which of the following operator is used in decision making in C programming?

A. Assighment B. Relational

C. Logical D. Conditional

Q65. ® (C) wrnfAe & fvhkr A & fAw AT & ¥ fFa AT F1 33T fFar smar 82
A. 3 OTSTHT B. Rererster

C. difareher D. &eTe

Q66. Which of the following logical operator in SQL allows the existence of multiple
conditions in an SQL statement's WHERE clause?

A. ALL B. ANY
C. AND D. EXISTS

Q66. TH.FY,.UA.(SQL) # AFT # & 7 W1 Alfordd NN, TF TH.F, 0. (SQL) F¥eeHe & WHERE Faier 7
¢ Reufoat & srfaca 1 sgafa Sar ¥

A. ALL B. ANY

C. AND D. EXISTS

Q67. When a change in price does not affect the demand of products in the market, then it
is said to be demand.

A. Elastic B. Inelastic

C. Curved D. Flexible

Q67. 39 HAd # IRad, ISR H Icral 1 ANT FF YT ¢ FaT §, O 39 AT Fgl AT §
A. dEeR B. 3relleieR

C.ah D. ordrelr
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Q68. The study of microeconomics deals with understanding the

A. Amount of a country's financial income B. Percentage of employment in a country

D. Demand and supply of goods in individual
markets

Q68. Y&H AT FT Ty Y FHFA § FatAd ghar

A. fRET g1 7 Fed 3T &1 aR&AToT B. Ush 2T & USTIIR T wfaerd
D. cgfeFeaTel aTeIRT & &3t &1 AT 3R 3t

C. Quantity of resources exported

C. =aTa forw 710 Garerst &y AT

Q69. What will be the term in the empty box on the X axis of this graph?

=

A. Period B. Quantity
C. Competitors D. Revenue
Q69. 3H ATH F X 38T W @ell aiFw A FHieT | eq gM?

S~ ODoem=rd
= g
1
A. 3afer B. #AET
C. gfaanf D. TerEd
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Q70. Food and water fall under the category of goods.
A. Luxury B. Necessity

C. Inferior D. Superior

Q70. 3MER 3T gr=At FEgat 1 Aot F siaeta e §

A. faenf&ar B. 3T

C. 31X D. A3

Q71. is the most common index to measure the rate of inflation.
A. Consumer Price Index B. Producer Price Index
C. Sale Price Index D. Charge Price Index
Q71. , FAZTERI HY T Y AT FT FGH AA TIFF 5

A. 3THIFT FHed FIhRID B. 3cUTesh Hed Hahish

C. foshr Hoar Fashis D. Y[eh FHoT Fahich

Q72. Expanded form of GDP is

A. General Domestic Price B. Gross Domestic Product

C. Gross Depreciation Price D. General Demolition Product
Q72. .39, F Reala & gl

A. AT TR Hed B. Tehel B¢ 3T

C. Hehel HodeHd Hod D. AT HaHeT 3cuTe

Q73. Which one of these is not an example of an intermediate good?
A. Salt B. Wheat
C. Cement D. Clothes

Q73. 3 ¥ FleT, T ALYt G HT 3STGI0T AT 62
A. FHR B.:ﬂg”

C. @1Fe D. 93

A_dv. No. 06/2016 Cat No. 02, Industrial Extension Officer (Industries and
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Q74. What term will be inserted in the empty box on the following business cycle graph?

Equilibrium

S Years

A. Contraction

C. Recession

B. Expansion

D. Depreciation

Q74. AFafaf@d R % % F @rel Iiew & i AT AUeg 31T FATTIM?

A. T

C. #Fr

Q75. Axis Bank was previously known as:

A. Sarvodaya Bank
C. Global Trust Bank

B. @¥ar

D. Acdgr™

B. Vijaya Bank
D. UTI Bank

Page 21 of 29



Adv. No. 06/2016 Cat No. 02, Industrial Extension Officer (Industries and
Commerce Department, Haryana)
Morning Session

Q75. vFuW dF F ygd FW ATH ¥ AT ATAT AT?
A. gafeg d= B. faerr d+
C. Tdlladl c¥e S D. Z.&.37ms. d%

Q76. Short Term borrowings, as per RBI is borrowing of tenor up to but less than

A. Two years B. One Year

C. Three months D. Six months

Q76. IR.A.3ME. F HTAR, HeqPifah =T aF AT IAW FH AT qTeT HOT ¢
A aray B. U a¥

C. d=1 fIg=T D. &: #gla

Q77. MPC stands for

A. Marginal Policy Committee B. Monetary Payment Committee

C. Marginal Payment Committee D. Monetary Policy Committee
Q77. wA. 4. &1 g A gl

A. @Ad hfa afAfa B. #Hifeh sprarer wfAfa

C. i speTa |y D. #ifiw aAfer wfafd

Q78. Indian Government's policy about exports and imports is called

A. Finance Policy B. EXIM policy

C. Monetary Policy D. Fiscal Policy

Q78. A3 3R 3T F IR H HRT TSR Y AfF T AT ¢l
A. faea sirfer B. wfererd (EXIM) afa
C. #ifge =t D. T Afa
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Q79. According to economist Amartya Sen, economic growth is one aspect of the process of

A. Economic development B. Rise in government resource
C. Rise of inflation D. Population growth

Q79. e A A F FAAR, IAF g &1 afERaT 1 v TEe ¢

A. 3idie fasra B. TN TTYLA H ghg

C. Herehif #r i D. S HET gig

Q80. In which type of economy there is no market, hence no competition?

A. Capitalism B. Socialism

C. Mixed economy D. Market economy

Q80. ¥ YR H Irdegawar # FI ISR ¢! &1 ¢, FATAT FI§ Whawq’ 721 gt 2
A. Gefrare B. THATSAIG

C. fafaa srdegawar D. TR 3regaedr

Q81. The average of three statistics: basic literacy rate, infant mortality, and life
expectancy at age one, all equally weighted on a 0 to 100 scale. What is it called?

A. Human Development Index B. Physical Quality of Life Index

C. The Laspeyres Index D. Life Development Index

Q81. et st A 3w : 7 WaRaT ¥, Y 7 &, 3R w7 a¥ F Shaer geamen, W A FITAFT T IO R
100 YA W AT 1T ¥ 59 FAT FE 2

A. AT Taehrd Fashich B. Sitaet s il I[oTdcT 1 Fahieh

C. eI g D. gt fashra Faehish

Q82. Which amongst the following is NOT an example of Non-tax revenues?
A. Parking Fines B. Property Tax
C. Foreign Aid D. Tolls charged for the use of toll roads
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Q82. faF # ¥ &le, -+ TSTET T IgTE0T LT 82
A.CITﬁﬂTGJ"FﬁHT B. ufcd aX
C. e ggraar D. 92 & TSI & 3T & [T ToIAT SATe Tl T T

Q83. Which tax is often collected on a pay-as-you-earn basis?
A. Personal Income Tax B. Service Tax

C. Value Added Tax D. Corporate Tax
Q83. FATA-F-[TY-IITATT-F TR G HFAT PleT W FT e AT ST 82

A. SIFAIT TR B. 9aT &Y
C. 7 aiid & D. &aile T

Q84. A method of distributing tax burdens through time rather than a replacement for taxes
is called as

A. Government Borrowing B. Income Distribution

C. Government Investment D. Government Expenditures
Q84. FT F YATUTIA & ToI1T TAT F ATEIH ¥ FT & a7 T AT FIA Y v [{Rr FY FgT AT ¢l
A. EXHRT 3UR B. 31 faaror

C. TR fovaer D. ¥R &g

Q85. India ranks in the production of milk globally.

A. First B. Second

C. Third D. Fourth

Q85. faRd T I g & 3G # HRA Y T 9T

A. TgaT B. q@T

C. T D. gt

Q86. The Indian economy is referred to as
A. Pure economy B. Free economy

C. Mixed economy D. Independent economy
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Q86. AR refeaasar H & A @ AT ST B

A. g 3rdegasar B. & rdeaaer

C. Afa srdfcuaear D. ¥add Jdegaedr

Q87. In India, the public sector is more dominant in the segment.
A. Transport B. Textile

C. Agriculture D. Commercial banking

Q87. ¥Rd &, WdSATa® &, T3 # e gsmgermeh ¢

A. 9RagT B. a&F

C. 3l D. wARNTe dfhar

Q88. The Chairman of the Planning Commission (NITI Aayog) in India is the

A. Prime Minister B. President

C. Finance Minister D. Chief Minister
Q88. T & AT HAT (FAfer 3mAT) F 3regey aa gl
A. TETTHAT B. Irsgufa

C. Rea &4 D. #&T &6

Q89. The Union Minister who currently heads the Ministry of Skill Development and
Entrepreneurship is :

A. Sushma Swaraj B. Jayant Sinha
C. Dharmendra Pradhan D. Narendra Modi

Q89. FhT HAt A FAATT H Flerer RFTw vd 3N FAeT F W@ ¢
A. AT RIS B. Srad feer

C. uig gt D. siig Aer
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Q90. When was the tripartite Committee Viz. "The Committee on Fair Wage" setup?

A. 1948 B. 1942
C. 1950 D. 1945
Q90. Rralr wfAfY sruf "3 da= FfAfA" hr FuTgaT Fwt g5 12
A. 1948 B. 1942
C. 1950 D. 1945

Q91. Which of the following country was the first to join the global programme "The
International Programme on the Elimination of Child Labour" in 1992?

A. Germany B. United States of America

C. India D. France

Q91. 1992 # ARTF FRFHA "HTSET T 43 IeHlT FIAFA" # AR g AT Tgell & FlT AT?
A. STHA B. §gFd T IARET

C. IR D. wid

Q92. Which company has raised $1.4 billion funding from SoftBank Group, the Japanese
Internet and telecom major?

A. Flipkart B. Airtel

C. Paytm D. PayPal

Q92. ¥ HUll A Wit U, SIE FeAe IR THIR W@ F 1.4 RfAFT sfex v Seran &2

A. TTaaehIE B. Taeo

C. 9drH D. 99l

Q93. According to the IMF, India's growth is expected to rebound to in the 2017-
18 fiscal.

A.7.2% B. 6.9%

C. 17% D. 17.32%

Q93. ITE.TH.TF. F IHaR, facdia af 2017-18 # s &1 Remw A & 9T HTet T THIGT &
A.7.2% B. 6.9%

C. 17% D. 17.32%
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Q94. Which of the following cooperative society has sighed Memorandum of Understanding
with Government of Sikkim to explore business opportunities in organic value chain?

A. Indian Farmers Fertiliser Cooperative (IFFCO) B. Krishak Bharati Cooperative Limited (KRIBHCO)

C. Sant Muktabai Sahakari Sakhar Karkhana D. Horticultural Producers' Cooperative Marketing
and Processing Society

Q94. Arafaf@a # & frw wear) afAfY A ARF 7ea s@en # swaw F Iaw Fan F v RFFT TFR F
WY TF FAFNAT ATIA T gFaer fmam g2

A. 9RO AT 30t TghRT Afafa (wher) B. e $RCAT WeehT TaifAes (fohereht)
C. | HFAETS HghN AIER HRETAT D. SETaT 3cdTgeh HEhRY AUl Td THERTOT HHTIEr

Q95. World's net Balance of Payment is always

A. One B. Zero
C. Two D. Five
Q5. R FPram g AV gHM AT &l

A. TH B. =
c.ar D. 9™

Q96. What is customs duty?

A. The tax levied on the import of goods. B. The direct tax levied on the import or export of
goods in international trade.

C. The indirect tax levied on the import or export D. The exchange of surplus produced goods
of goods in international trade. across international borders.

Q96. WAT Yo FAT 82

A. FEG3T & AT TR of3Te arell | B. RIS SAUR # a&3il & 3R AT fF3Td o oforet
aTeTT YTt |

C. 3RISE SR 7 TEIAT & AT AT AT R Aot D, ARy Har a7 7 Aoy senfe awgsit &

aTeT 3T9ceT FI| HIET-YeTe |
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Q97. A financial institution that manages the functioning of other institutions that finance
export and import trading activities in India is

A. EXIM bank B. ICICI bank

C. Unit Trust of India D. Small Industries Development Bank of India
Q97. H e dEye § St R # Aia 3k 3 sar afafafay w1 Readiyor s e
HeT TEYTAT & FTHRIS HT GG HIT 81

A. TiFSTH (EXIM) d& B. 3715.90.3M.8.318. 9%

C. Ffire gwe 3w S D. TR g Sezher R d

Q98. acts as a Banker's Bank.

A. EXIM bank B. SBI bank

C. Unit Trust of India D. Reserve Bank of India

Q98. TF ST & dF & v F FRF FIar T

A. TfFa#H (EXIM) S B. tq.&.31S. d&

C. afee gee 3w SR D. ey Rord 3

Q99. Which one of these companies do not fall under Public Sector Enterprise?

A. Bharat Petroleum Corporation Limited B. Oil and Natural Gas Corporation
C. Reliance Industries Limited D. Steel Authority of India Limited
Q99. FaH ¥ FiT W Fuah, TR &7 F IgIA & ad AET I §?

A. R dgiforas HidRer faffes B. el U9 Yrehfde I fvarsy

C. R gs&diet fafaes D. $IRd ¥aTd grfereor fafaes

Page 28 of 29



Adv. No. 06/2016 Cat No. 02, Industrial Extension Officer (Industries and
Commerce Department, Haryana)
Morning Session

Q100.Ina budget, the revenues and expenditures are equal.
A. Deficit B. Balanced

C. Additional D. Small

Q100. TF dolc #, TorEa 3R =99 v gAR g E

A. ®TeT B. @dfed

C. sfaRea D. ®er
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